RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4421-22 dwg, TX-4422

8811 West Market Street
Colfax, N.C. 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glozed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R413 and the 2004
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject 1o the following conditions:

[

2.

Anchors shall be os listed and spaced as shown in the details, Anchor
embedment to base material shall be beyond wall dressing or stucco,
wWhen used in areas requiring wind-bome debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION

1 Typical elevations, design pressures & general notes

Door panel details {lip lite insert glazing)

Horizontal cross seclions

Vertical cross sections

(S0 KSR

Frame anchoring

PRODUTCTS, I NC.

37.75 MAX. OVERALL
FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT [QUTSWING)

),
a

O]

INSWING +30.0

-35.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Sox 230 Valrice FlL. 33585

Phone No.: B813.658.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documenta Prepared By:

CERTFICATE OF REGISTRATION § F—11852

ENDURA

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

REVISIONS

oatE: 12/10/1

L
<
o
O
=z
3

SCALE:  N.T.S.

OUTSWING +25.0

-25.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4422

sHeer 1 oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



R:AA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4421-22.dwg, 2.8

-—l 1.24"

f

e 1.75" —m

Z HINGE STILE

(WOOD)
36.0" MAX. _
PANEL WIDTH
21.0" MAX
D.L.O. WIDTH S
2

& .

= xT
S5 20
o A +
g 29 T[] X 1&
8§ =©
&

B

THERMA-TRU
Insert glazed
(steel)

o/ 41 TITTIT,

INTERIOR

28" 1.24" =

o
i

Y

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION
\2/

#6 X 1-1/2" PH SM$S

INTERIOR

Z 24" LONG

LOCK BLOCK
{(WOOD})

T

LOCK STILE
(WOOD)

GLASS BITE /2"

———1/2" NOMINAL GLASS THK.

L 1/8" TEMPERED GLASS

EXTERIOR
LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

5 — AR SPACE

1/8" TEMPERED GLASS

STEEL SPACER
Q'SO SEALANT

TOP RAIL
{COMP.)

FOAM CORE -
[POLYURETHANE)\\ -
INTERIOR EXTERIOR
24 Ga. STEEL SKIN _\Q o
S
BOTTOM RAIL 3
(COMP.}

@ VERTICAL CROSS SECTION
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 valrico FL. 33585
Phone No.: B813.659.9167
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILBING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # ¢--11852

Documents Prepared By

o
|G}
n=
=N
i
taﬁo
I —
S Elin ]
S |z 22
[v] S o=
7 o
. 4 83
= o Sn,
3=
S &
& &
>
i)
%)
pd
Q
2]
o
P
<
P
o
=z
oaTE: 12/10/13
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4422

SHEET 2 oF 5

© 2013 R.W. BUiLDING CONSULTANTS INE.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4421-22.dwg, 3.8

174" MAX.
SHIM SPACE

EXT. SHEATHING

0.15"
=— C'SINK
(TYP.)

2X FRAMING

(G >=0.42) \

T JAMB

P

v

i@GD

/

—— #10 X 2.5" PFH WOQD SCREW

ENDURA WEATHERSTRIP

(2 (34N

|QEBD/PE 650)
EXTERIOR

X

%

DRYWALL / —/
#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

\ #8 X 1" PFH SMS

INTERIOR

4" HINGE

NOZANCY Y

#10 X 2.5" PFH WOOD SCREW N\

ENDURA WEATHERSTRIP

{QEBD/PE 650}
EXTERIOR

(980/985)

{991}

CORNER PADS {TYP.)

0.15"
CSINK —»]
{TYP.}

DEADBOLT: KWIKSET SIGNATURE SERIES

[ LATCH: KWIKSET SIGNATURE SERIES

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

MAX.

JAMB

Y

N

174"
| SHIM SPA
[‘ SHIMSS faﬂ. SHEATHING

2X FRAMING
/ |G >=0.42)

INTERIOR

m HORIZONTAL CROSS SECTION

w fnswing shown - Outswing also approved

\ DRYWALL

#8 X 2-1/2" PFH W3

LATCH STRIKE PLATE

P.QO. Box 230 Valrico FL. 33585

Phone No.: 813.658.9187

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, iINC.

Documenta Prepared By

CERTIFICATE OF REGISTRATION § F-11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL
CROSS SECTIONS

BY

REVISIONS

oate: 12/10/1

78]
i_
<
a
o
Z
3

SCALE: N.T.S.

WG, BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4422

SHEET 3 ofF 5

© 20132 R.W. BUILDING CONSULTANTS INEC.



RAA - Projects\Praject Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4421-22.dwg, 4.8

INTERIOR

ENDURA WEATHERSTRIP
(QEBD/PE 650)

ENDURA THRESHOLD
{Z-SERIES OUTSWING}
IOB4565FEN (shown)
I0OB4565FN
{w/f decorative nosing)

N

7,

DOOR PANEL

7

1 2X FRAMING
T &
y ’! : _..:
EXT. SHEATHING Al = / DRYWALL
L o
©b— #10X 2.5*PFH
1 // WOOD SCREW
174" MAX. (| o
SHIMSPACE . [filI - o
hzo
SHE
DOOR PANEL _\W _J
\— HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650)
W
EXTERIOR INTERIOR

/ 1"\ VERTICAL CROSS SECTION

u Outswing shown - inswing
also approved

L Fe =1

N

(Z-SERIES INSWING ADJUSTABLE)
ZAI4565FN (shown)

7

N

AN

h

ZAl4565FEN {w/fo decorative nosing}

//

EXTERIOR EXTERIOR
DOOR PANEL
ENDURA DOOR SWEEP \
[DBK-R)
ENDURA THRESROLD

IACA4565FEN (shown)
IACA565FN (w/ decorative nosing)

#10 X 2.5" PFH WOOQD SCREW

14" X 2-3/4"ELCO OR
W CONCRETE SCREW

L

R

7“2\ VERTICAL CROSS SECTION

4/

Cutswing shown

INTERIOR EXTERIOR
DOOR PANEL
ENDURA DOOR SWEEP
[DBK-AC)
ENDURA THRESHOLD
{Z-SERIES INSWING ARTICULATING)

/L INTERIOR

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
Tw CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

\y Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
W CONCRETE SCREW

/"8 \ VERTICAL CROSS SECTION

W Inswing configuration

ul
£
S 0
82, B
£+ 2 4s
by g8 87
z =z
h:ﬂ.. —ea W
c i - b
2 qu gz
4 O® S0
=kt =
3 Jdpe BL
g>o OF
gR® o2
5‘ UN-O: L]
% x
b 28% %,
® gm, Ol
8 258 g
2 Rok 2
S
8 c
[
PR R
3 Q
]
o
(%)
=
o
&
L
wy
& 7
x .
a i e’
= m| &
(e} Z ©
] —d
23
.. =
[ [ad [o%
(@]
2 o ¥
o &
& =
a. o.
>..
e}
n
e
O
]
&
B
<C
S
o
pa
oate: 12/10/13
SCALE: N, T.S.
DWG. BY: JK
CHK, BY: LFS
DRAWING NO.:
TX—~4422

sheer 4 ofF 5

© 2013 R.W. BLILDING CONSULTANTS ING.



NGE
AlL 1

INGE
AlL2

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4421-22 dwg, 5.8

uj
s uz_i 2X framing {by others} R
2o 8 . Ba
=5 . Ex & Ha
N=0 é 8. ) Zr
> Q I = (e 2" 2l
n O ( ' e o = d rc; g -
| | TR
M B3 5 2t@ 99
t SEE HINGE 335 gé
DETAIL 1 8@ -
[ 1. N % oo 5
i [ #10 X 2.5' PFH & SN E3
N WOOD SCREW s » 3 23% s,
S (YP.@HEAD | ©°Z s 2 g 355 e
AND JAMBS) S _a 2 Rak gg
[2°4
y i 523 : =
i 3 ]
3 B ‘ 3 PR
a
E\J -
= B 11 i
[+9]
s SEE HINGE ? ©
N =
3 DETAIL 2 \i g
i <
- 1 sesme | o S Iy8
— DETALL s g a.zﬂ e
iz oW
1 ,/ N 4 3
BB No 5 gl
: - ~ s |z
[ (] ' by [ 1 & &
/ % &
#10 X 2.5" PFH WOOD SCREW
HINGE JAMB STRIKE JAMB
- FRAME ANCHORING 1/4°X 2:3/4" LCO OR DR N
X W ﬁ%’;c@RESTELS)CREW ANS| DEADBOLT
FLOOR SUBSTRATE MATERIAL (TYP.) STRIKE PLATE W
CONCRETE {MIN. 3000 P$1) #10 X 3" PFH WS {4) " Z
WOOD (G >= 0.42) . %
o
#8X 2-1/2'PRHWS (2} —~__|{]|(] *
e LATCH STRIKE
PLAT
CONCRETE ANCHOR NOTES: LATE
1. Concrete anchoer locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. STRIKE DETAIL "
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to *;(
maintain the min. edge disfance to mortar joints, additional concrete anchors o
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded. 1 o -
4 q /#BXQ 1/2" PFH WS /#8)(2-1/2" PEH WS %
_________ el s oaTe: 12/10/13
(o] INR! #8 X 1"PFHWS & [ " . —* SeAE:  N.T.S.
L T CEDGE: o H > #8 X 3/4" PFH WS #8 X 1"PFH WS :. | F= 48 X 3/4" PFH WS p— i
4" X 4" HINGE | gy gm
mw ® 1/4.. ]-3/4n 2_1/2n 3" \ 4" X 4" HINGE CHK. BY: LFS
TAPCON W \\\ DRAWING NO.:
ELCO " " " " TX—4422
uLtTRACON®|  1/4 1-3/4 ! 3 HINGE DETAIL 1 HINGE DETAIL 2 —

© 2013 R.W. BUILDING CONBULTANTS INC.



